
Multiply by 10⁻² (F)Find each product.
55 × 10⁻² = 19 × 10⁻² =
20 × 10⁻² = 94 × 10⁻² =
74 × 10⁻² = 96 × 10⁻² =
13 × 10⁻² = 85 × 10⁻² =
70 × 10⁻² = 58 × 10⁻² =
23 × 10⁻² = 33 × 10⁻² =
79 × 10⁻² = 65 × 10⁻² =
57 × 10⁻² = 81 × 10⁻² =
28 × 10⁻² = 83 × 10⁻² =
24 × 10⁻² = 89 × 10⁻² =
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Multiply by 10⁻² (F) AnswersFind each product.
55 × 10⁻² = 0,55 19 × 10⁻² = 0,19
20 × 10⁻² = 0,2 94 × 10⁻² = 0,94
74 × 10⁻² = 0,74 96 × 10⁻² = 0,96
13 × 10⁻² = 0,13 85 × 10⁻² = 0,85
70 × 10⁻² = 0,7 58 × 10⁻² = 0,58
23 × 10⁻² = 0,23 33 × 10⁻² = 0,33
79 × 10⁻² = 0,79 65 × 10⁻² = 0,65
57 × 10⁻² = 0,57 81 × 10⁻² = 0,81
28 × 10⁻² = 0,28 83 × 10⁻² = 0,83
24 × 10⁻² = 0,24 89 × 10⁻² = 0,89
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